
Page 1 of 3 Assembly Instructions-Instructions d’assemblage-Instrucciones para el ensamblaje
Made in VietNam / Fabrique en VietNam / Hecho en VietNam.

*Replaceable part

PRODUCT NAME / NUMBER(S)  : 305-P323DJ140
Description if Available / Needed   : Nightstand
                                                        Table de chevet
                                                         Mesa de noche

drew &
jonathanTM

FOR LIVING SPACES

A

   x1 Furniture Tipping Restraint
   x1 Systeme antibasculement
   x1 Control para evitar vulcos

B C D

E F

x1 Nightstand
x1 Table de chevet
x1 Mesa de noche

G

x1 Allen Key 5mm
x1 Clé hexagonale 5mm
x1 Llave Allen 5mm

x12  Bolt ∅5/16"x25mm
x12 Boulon ∅5/16"x25mm
x12 Perno ∅5/16"x25mm

x12 Lock washer ∅5/16"
x12 Rondelle de blocage ∅5/16"
x12 Arandela de Seguridad ∅5/16"

x12 Flat Washer ∅5/16"x19mm
x12 Rondelle plate ∅5/16"x19mm
x12 Arandela plana ∅5/16"x19mm

x4  Metal leg
x4 Jambe en métal
x4 Pata de metal

PARTS LIST / DIAGRAM



Page 2 of 3 Assembly Instructions-Instructions d’assemblage-Instrucciones para el ensamblaje
Made in VietNam / Fabrique en VietNam / Hecho en VietNam.

*Replaceable part

drew &
jonathanTM

FOR LIVING SPACES

1

Adjustable leveler 4pcs
Patin réglable 4pcs
Nivelador ajustable 4pcs

2
STEP 2
ÉTAPE 2
PASO 2

STEP 1
ÉTAPE 1
PASO 1

Metal leg box
Boîte à pattes en métal
Caja de metal para piernas

PRODUCT NAME / NUMBER(S)  : 305-P323DJ140
Description if Available / Needed   : Nightstand
                                                        Table de chevet
                                                         Mesa de noche

PARTS LIST / DIAGRAM



Page 3 of 3 Assembly Instructions-Instructions d’assemblage-Instrucciones para el ensamblaje
Made in VietNam / Fabrique en VietNam / Hecho en VietNam.

*Replaceable part

drew &
jonathanTM

FOR LIVING SPACES

Lift
Soulever
Levantar

Press
Presse
Prensa

Furniture Tipping Restraint
Systeme antibasculement
Control para evitar vulcos

3
STEP 3
ÉTAPE 3
PASO 3

PRODUCT NAME / NUMBER(S)  : 305-P323DJ140
Description if Available / Needed   : Nightstand
                                                        Table de chevet
                                                         Mesa de noche

PARTS LIST / DIAGRAM


	305-P323 -BR Model (1)
	305-P323 -BR Model (1)
	305-P323 -BR Model (1)

